ORIGINAL ARTICLE



Increased incidence of bladder cancer, lymphoid leukaemia, and myeloma in a cohort of Queensland melanoma families

Jazlyn Read^{1,2} · Judith Symmons¹ · Jane M. Palmer¹ · Grant W. Montgomery¹ · Nicholas G. Martin¹ · Nicholas K. Hayward¹

© Springer Science+Business Media Dordrecht 2016

Abstract Familial cancer risk has been proposed as a shared feature of many cancers, and overall susceptibility is influenced by combinations of low to moderate risk polymorphisms, rare high penetrance germline mutations, and modulation of risk by environmental and genetic factors. Clustering of melanoma occurs in approximately 10 % of families, and an over-representation of additional cancers has been noticed in some 'melanoma' families. The degree to which other cancers aggregate in families affected by melanoma has not been well defined. Therefore, this study aimed to assess the risk of cancers other than melanoma in a cohort of 178 'intermediate risk' melanoma families, not selected for specific genetic mutations. Families designated as 'intermediate risk' had two first degree relatives (FDRs) affected by melanoma when ascertained between 1982 and 1990, and were followed up over a 33 year period to assess new occurrences of cancer. We included 414 melanoma cases and 529 FDRs, comprising 25,264 person years of observation. Standardised incidence ratios and their 95 % confidence intervals were calculated for all invasive cancers, comparing observed to expected cases of cancer based on age and sex specific incidence rates for the Queensland population. Statistically significant increases were found for bladder cancer in females (observed, 7; expected, 1.99; SIR, 3.52; 95 % CI 1.41-7.25), lymphoid leukaemia in females (observed, 6; expected, 1.75; SIR, 3.43; 95 % CI

Jazlyn Read jazlyn.read@qimrberghofer.edu.au 1.26–7.46), and myeloma in female melanoma cases (observed, 4; expected, 0.82; SIR, 4.89; 95 % CI 1.33–12.52). Over-representation of bladder cancer, lymphoid leukaemia, and myeloma in females of the cohort may suggest sex-dependent co-modifiers, and it is possible that specific combinations of polymorphisms predispose to certain cancer types.

Keywords Bladder cancer · Familial cancer · Lymphoid leukaemia · Melanoma · Risk

Introduction

In contrast to 'sporadic' cancer, occurring in the absence of family history or known risk genotype, the clustering of multiple cancers has been observed in some families. Familial risk has been proposed as a shared feature of many cancers, particularly for those diagnosed at a younger age and with multiple affected family members [1–4]. The degree to which certain cancers aggregate in families has been difficult to define, due to the heterogeneity of possible high penetrance germline mutations, low to moderate risk polymorphisms, genetic and environmental modifiers, and individual lifestyle factors [1, 4, 5]. However, it appears that risk of some cancers is more heritable than others [5, 6].

A positive family history is associated with increased risk of melanoma, and although familial melanoma prevalence varies by geographic region, approximately 10 % of Australian melanoma cases have an affected relative [7–9]. The cumulative risk of melanoma in first degree relatives (FDRs) of cases has been estimated at 6–7 % by the age of 80 years, with this risk rising to 10 % if the relative with melanoma was diagnosed before age 50 [10].

¹ QIMR Berghofer Medical Research Institute, PO Royal Brisbane Hospital, Herston, Brisbane, QLD 4029, Australia

² The University of Queensland, Brisbane, QLD, Australia

The familial melanoma susceptibility gene *CDKN2A* is associated with an increased risk of cancers other than melanoma, particularly pancreatic and digestive tract cancers [11–14]. Other high-penetrance melanoma predisposition genes have also been linked to additional nonmelanoma cancers, including a cancer syndrome comprising cutaneous melanoma, uveal melanoma, and mesothelioma associated with *BAP1* mutations; renal cell carcinoma with *MITF* and *BAP1*; glioma and *POT1* [15–25].

In some families affected by melanoma, additional 'over-represented' cancers continue to be observed. For both melanoma and other cancers, rare high penetrance loci cannot entirely explain observed familial rates, and it is likely that 'familial' cancer is influenced by the contribution of multiple low risk genes and modifiers inherited by susceptible individuals.

The combination of individual risk alleles may also be important, depending on whether the effects are additive or epistatic, and thus the number of inherited variants required for oncogenesis. Differences in populations with strong founder effects, different patterns of low-risk polymorphism inheritance, and specific environmental exposures, may result in different clusters of melanoma-associated cancer types between geographic regions [12].

At a population level, a unique underlying predisposition for cancer is likely conferred by the combined effects of many low risk loci and exposures, and it is possible that specific cancer types share similar combinations of polymorphisms that increase overall risk.

To investigate population level cancer risk for 'melanoma' families, the present study seeks to assess the risk of cancers other than melanoma in a cohort of families with at least two first-degree relatives affected by melanoma, not selected for specific genetic mutations.

Materials and methods

Study inclusion

The study cohort comprises 178 families originally ascertained between 1982 and 1990 as part of the Queensland Familial Melanoma Project (QFMP), designated as 'intermediate risk' due to confirmed cases of melanoma in two first-degree relatives [7]. Of the 415 families in the 'intermediate risk' group, these 178 families had not had further contact since a follow up study (The Queensland Study of Melanoma: environmental and genetic associations (Q-MEGA)) was completed between 2002 and 2005, when one or more individuals in each family answered a structured telephone interview relating to personal and family cancer information [26]. Melanoma cases and their FDRs were considered eligible for the current study if they had given written consent or had verified death information. First-degree relatives of all confirmed melanoma cases in each family were included, regardless of which individual was the proband.

For bilineal families, both family lines were considered, to account for possible polygenic inheritance. Individuals with confirmed melanoma who married into a 'melanoma' family were only considered if they had at least one child who had given written consent or had available death information. Individuals without a genetic link to any melanoma case were excluded (i.e. related only by marriage, adoption), as were all individuals who were not alive at any point during the study period regardless of melanoma status (for reason see below).

Study period

The study period (33 years) commenced in 1982, when it first became mandatory to notify all cancers in Queensland to the Queensland Cancer Registry (QCR), and concluded at the end of 2014.

Cancer verification

Information on cancer diagnoses were obtained and verified from the following sources: histopathology from the QCR or any other source; National Death Index (NDI); written confirmation from a doctor or medical professional; genetic clinic counselling information; and original medical records or cancer information sighted and transcribed by a research nurse. In the absence of any other confirmation, a self-reported melanoma excision scar of greater than 5 cm (as documented on a historical QFMP questionnaire) was considered acceptable. Any cancer reported by an individual or relative that was not supported by any of the above verification criteria was excluded.

Cancer type

Cancers were counted only for primary events, not for metastases, unless metastatic disease was the first cancer diagnosed. In the case of metastatic disease, events were counted for the histological subtype and not the organ with metastatic cancer. In this way, an individual with metastatic melanoma to the brain would only be counted for melanoma, not brain cancer. Different cancers of the same organ/type in a single individual were counted as separate events only if they were primary cancers and were histopathologically distinct. Cancers not reportable to the QCR, such as basal cell carcinoma (BCC) and squamous cell carcinoma (SCC) of the skin, were excluded. Events were only counted for invasive cancers, in line with the cancer statistics reported by the QCR, defined as all invasive cancers with International Classification of Diseases for Oncology 3 (ICD-O3) site codes C00 to C80 (excluding C44 morphology codes M805 to M811, as these code for BCC and SCC) [27].

Sixteen benign or non-invasive neoplasms (i.e. with ICD-O behaviour codes of 0, 1, or 2) with histopathology confirmation were thus excluded.

Excluded neoplasms were two monoclonal gammopathies of unknown significance in two males both affected by melanoma, one parathyroid adenoma in a male FDR, one vulva intraepithelial neoplasia (VIN) III in a female FDR, one cervical intraepithelial neoplasia (CIN) I in a female FDR, one CIN II bordering on CIN III in a female affected by melanoma, and six cases of CIN III/ cervical SCC in situ (five females affected by melanoma, and one FDR).

Four WHO grade I brain neoplasms were also excluded: one fibroblastic meningioma in a female FDR, one fibroblastic meningothelial meningioma in a male affected by melanoma, one meningothelial meningioma in a female FDR, and one haemangioblastoma cerebellum in a male FDR.

Cancer risk estimates

The Cancer Council Queensland publishes annual incidence of all invasive cancers, and also publishes a standardised incidence rate per 100,000 people for males, females, and total population. Annual crude incidence rates for each age and sex stratum are calculated and then applied to a standard reference population, to allow direct comparison and averages between years.

The standard population used for calculating age-standardised incidence rates by the Cancer Council Queensland is the 2001 Australian resident population, as published by the Australian Bureau of Statistics.

Based on differences in the availability of cancer incidence rates subdivided by age and sex for the study population at different periods of time, there are thus multiple valid ways that risk estimates can be derived. Cancer incidence rates are reported in the following ways: an average of incidence rates from 2008 to 2012, reported in 5 year age groups up to 85 years and over for males and females; and cancer incidence rates for each year from 1982 to 2012, reported in 15 year age groups from 35 years to 80 years and over in males and females for some cancers, and by sex only for remaining cancers. We present here data derived using two approaches: firstly based on the population statistics for the period 2008–2012; and secondly, for the period 1982–2012.

Method 1: 2008-2012

The expected number of cancers was calculated from age and sex specific published cancer incidence rates for Queensland. This was calculated first for all cancers using the 2008 to 2012 average incidence rate, age standardised in 5-year age groups from 0 up to 85 years and over [28]. Incidence rates expressed as a number of events per 100,000 people were divided by 100,000 and multiplied by the number of person years under observation in each age and sex specific stratum. The resulting numbers for each stratum were added to obtain 'expected' cancer events in the cohort and sub-groups for each cancer type.

Method 2: 1982-2012

The average of the cancer incidence over this time period was calculated, as the sum total divided by 31, reflecting 31 years of data [29]. As for Method 1, average incidence rates were divided by 100,000 and then multiplied by the number of person years in each age and sex stratum of the study cohort. For cancers where age stratified data were available (all invasive cancers, melanoma-used only in context of removing this number from total invasive cancers, breast, cervical, colorectal, lung, non-Hodgkin lymphoma (NHL), and prostate cancer), published cancer incidence rates per 100,000 persons for age groupings of age 35-49, age 50-64, age 65-79, and age 80 and over were used. No incidence rates were reported for the ages of 0-34. Therefore, to account for cancer events in persons aged 34 and younger, expected cancers for 0 to 34-yearolds were calculated by 5-year age groups from the published 2008-2012 incidence rates, and added to the total of expected cancers for age 35-80 years and over from 1982 to 2012 incidence rates.

For cancers where incidence rate data from 1982 to 2012 per 100,000 persons was only available for sex, and not stratified by age (bladder, brain, head and neck, gynaecological—combined group, ovarian, uterine, kidney, leukaemia—combined group, lymphoid leukaemia, myeloid leukaemia, lymphoma—combined Hodgkin lymphoma and NHL, myeloma, liver, mesothelioma, pancreatic, stomach, and thyroid cancer), cancer risk estimates were obtained by multiplying the average total incidence for males and females by the number of person years under observation.

Statistical analysis

The standardised incidence ratio (SIR) was computed as the ratio of observed and expected cases of cancer. As above, expected cancers were based on age and sex specific incidence rates multiplied by the number of person years in each age and sex specific stratum. A person year was defined as any part of a year under observation while the person was alive, with a maximum of 33 years from 1982 to 2014 inclusive. 95 % confidence intervals were computed to test the statistical significance of the SIRs, based on the Poisson distribution model. The difference between observed and expected cases was considered statistically significant if the 95 % confidence interval did not include the value of 1.

Expected versus observed cancers and 95 % confidence intervals were calculated by sex and by sub-group for individuals affected by melanoma and FDRs.

Age and sex standardized 'expected' events of melanoma were calculated for the purpose of subtracting these from the total number of expected invasive cancers, to obtain the expected number of invasive non-melanoma cancers. Melanoma risk was not analysed, as families were selected based on 'intermediate risk' melanoma status.

Results

A total of 943 individuals from 178 families were included, comprising 25,264 person years of observation. There were 414 individuals affected by melanoma, 192 males and 222 females, with 5244 and 6722 person years of observation, respectively. There were 529 FDRs of these individuals, 250 males and 279 females, contributing 5873 and 7425 person years, respectively.

Of the 178 families, 125 (70 %) had at least one individual diagnosed with non-melanoma cancer during the study period.

Of 414 individuals affected by melanoma, there were 128 non-melanoma cancer events in 102 (25 %) individuals. Of the FDRs, 134 (25 %) were also diagnosed with at least one non-melanoma cancer, with a total of 150 non-melanoma cancer events in this group.

The observed versus expected cancers were analysed in two different ways, as outlined in the methods.

2008-2012 incidence rates

Using the 2008 to 2012 incidence rates, in the overall cohort there was not a statistically significantly different number of total cancers observed than expected (observed, 278; expected, 291.43; SIR, 0.95; 95 % CI 0.85–1.07). Bladder, haematological, and thyroid malignancies were modestly increased (Table 1).

When separated by sex, no cancers reached statistical significance in males (Table 2). In females, increases in observed numbers of bladder cancer (observed, 7; expected, 1.99; SIR, 3.52; 95 % CI 1.41–7.25) and lymphoid leukaemia (observed, 6; expected, 1.75; SIR, 3.43; 95 % CI 1.26–7.46) were statistically significant (Table 3; Fig. 1).

Considering the individuals with melanoma separately, myeloma was statistically significant for the overall group (observed, 6; expected, 1.97; SIR, 3.04; 95 % CI 1.12–6.62). However, when separated by sex, myeloma was only significant for females (observed, 4; expected, 0.82; SIR, 4.89; 95 % CI 1.33–12.52). Bladder cancer was also statistically significant for females affected by melanoma (observed, 4; expected, 0.87; SIR, 4.59; 95 % CI 1.25–11.76). There were slightly more renal, haematological, and thyroid cancers than expected in melanoma cases, but these cancers did not reach statistical significance.

In FDRs of individuals with melanoma, either as a combined group or stratified by sex, no cancers reached statistical significance.

1982-2012 incidence rates

Comparing the study population to the average age and sex standardised incidence rates from 1982 to 2012, observed versus expected total non-melanoma invasive cancers was not significantly increased (observed, 278; expected, 267.30; SIR 1.04; 95 % CI 0.92–1.17).

For cancers with available age and sex standardised incidence rates, there were modest increases in observed events of NHL (16 observed, 9.71 expected) and female breast cancer (40 observed, 31.79 expected), however these differences were not statistically significant.

The remainder of cancers had incidence rates for males and females (available as an incidence rate by sex only) from 1982 to 2012. A number of cancers reached statistical significance for males and females combined—bladder, kidney, leukaemia, lymphoid leukaemia, lymphoma, myeloma, mesothelioma, pancreas, and thyroid (Table 1).

Statistically significant cancers with more than ten observed events each were bladder cancer (observed, 12; expected 3.93; SIR, 3.05; 95 % CI 1.58–5.33), leukaemia, mostly comprised of lymphoid leukaemia (observed, 12; expected 3.73; SIR, 3.22; 95 % CI 1.66–5.63), and lymphoma (observed, 17; expected 4.63; SIR, 3.68; 95 % CI 2.14–5.88).

The only cancers with at least five events to be statistically significant in males only were lymphoma, with 9 observed and 2.38 expected cases (SIR, 3.78, 95 % CI 1.73–7.18), and kidney cancer, with 7 observed and 1.85 expected cases (SIR, 3.78; 95 % CI 1.52–7.79) (Table 2; Fig. 2).

In females, bladder cancer (observed, 7; expected, 0.98; SIR 7.12; 95 % CI 2.86–14.66), thyroid cancer (observed, 5; expected, 1.30; SIR, 3.85; 95 % CI 1.25–8.99), and haemato-logical malignancies were statistically significant. Leukaemia (observed, 7; expected, 1.59; SIR, 4.40; 95 % CI 1.77–9.07), including lymphoid leukaemia (observed, 6; expected, 0.77; SIR, 7.81; 95 % CI 2.87–17.00), lymphoma (observed, 8; expected, 2.21; SIR, 3.62; 95 % CI 1.56–7.14), and myeloma (observed, 4; expected, 0.62; SIR, 6.43; 95 % CI 1.75–16.47) were also all statistically significant (Table 3; Fig. 2).

Table 1Observed versusexpected invasive cancers,combined male and female

Cancer site/type	Observed	1982–2012* [†]			2008–2012		
		Expected	SIR	95 % CI	Expected	SIR	95 % CI
All invasive non-melanoma	278	267.30	1.04	0.92-1.17	291.43	0.95	0.85-1.07
Bladder	12	3.93	3.05	1.58-5.33	7.71	1.56	0.80-2.72
Brain	5	1.76	2.84	0.92-6.64	3.50	1.43	0.46-3.33
Breast	40	31.79	1.26	0.90-1.71	36.70	1.09	0.78-1.48
Colorectal	34	42.92	0.79	0.55-1.11	43.34	0.78	0.54-1.10
Gynaecological	8	6.17	1.30	0.56-2.56	12.66	0.63	0.66–1.95
Cervical	2	2.54	0.79	0.10-2.85	1.58	1.27	2.19–9.98
Ovarian	2	1.73	1.16	0.14-4.18	3.51	0.57	0.07-2.06
Uterine	3	2.17	1.38	0.28-4.04	5.90	0.51	0.10-1.49
Leukaemia (all)	12	3.73	3.22	1.66-5.63	9.25	1.30	0.67-2.27
Lymphoid leukaemia	8	1.80	4.44	1.92-8.75	4.37	1.83	0.79–3.61
Myeloid leukaemia	4	1.53	2.62	0.71-6.70	3.24	1.23	0.19–2.71
Lymphoma (all)	17	4.63	3.68	2.14-5.88	12.57	1.35	0.79–2.17
NHL	16	9.71	1.65	0.94-2.68	11.84	1.35	0.77-2.19
Myeloma	6	1.39	4.32	1.59-9.40	4.20	1.43	0.52-3.11
Head and neck	6	3.90	1.54	0.56-3.35	8.76	0.68	0.25-1.49
Kidney	9	3.25	2.77	1.27-5.26	9.38	0.96	0.44-1.82
Liver	2	0.89	2.26	0.27-8.15	3.51	0.57	0.07-2.06
Lung	27	31.45	0.86	0.57-1.25	32.35	0.83	0.55-1.21
Mesothelioma	3	0.53	5.71	1.18-16.68	2.35	1.28	0.26-3.73
Pancreatic	7	2.50	2.80	1.13-5.78	7.51	0.93	0.37-1.92
Prostate	49	44.29	1.11	0.82-1.46	54.53	0.90	0.66-1.19
Stomach	4	2.68	1.49	0.41-3.82	5.16	0.78	0.21-1.98
Thyroid	7	1.57	4.45	1.79–9.17	4.27	1.64	0.66-3.38

Bold type indicates statistical significance

SIR standardised incidence ratio, calculated as observed/expected; NHL non-Hodgkin lymphoma

* Expected cancers standardized by age and sex: all invasive cancers, breast, cervical, colorectal, lung, NHL, and prostate cancer

[†] Expected cancers standardised by sex only: bladder, brain, head and neck, gynaecological—combined group, ovarian, uterine, kidney, leukaemia—combined group, lymphoid leukaemia, myeloid leukaemia, lymphoma—combined Hodgkin lymphoma and NHL, myeloma, liver, mesothelioma, pancreatic, stomach, and thyroid cancer

Lymphoid leukaemia was significant both for females affected by melanoma and female FDRs. Lymphoma and myeloma remained statistically significant when considering females affected by melanoma separately, but were not significant for FDRs.

Brain cancer was increased for females in the group (observed, 4; expected, 0.82; SIR 4.87; 95 % CI 1.33–12.46), mostly owing to female FDRs.

Discussion

This study investigated cancer in 178 'intermediate risk' melanoma families, not selected for genetic mutations. The main finding of this present analysis is the significance of

bladder cancer and lymphoid leukaemia in females of the cohort, and myeloma in females affected by melanoma.

A greater number of other cancers were significant in the 1982–2012 analysis. However, the non-age standardised results must be interpreted with caution due to differences in the age distribution of the 2001 standard population and the study cohort population. While the 2008–2012 data is more precise due to narrower bands of age standardisation, the 1982–2012 method may reveal differences in cancer incidence and population trends over time that is more representative of the study population. Incidence counts of invasive cancer in Queensland have increased since 1982, and remain elevated even when standardised against a reference population to account for the changing demographics of an 'aging' population with more cancer events in older Australians [29]. Incidence rates of different

Table 2Observed versusexpected invasive cancers,males

Cancer site/type	Observed	1982–2012* [†]		2008–2012			
		Expected	SIR	95 % CI	Expected	SIR	95 % CI
All invasive non-melanoma	156	155.75	1.00	0.85-1.17	164.86	0.95	0.80-1.11
Bladder	5	2.94	1.70	0.55-3.97	5.77	0.87	0.28-2.02
Brain	1	0.91	1.10	0.03-6.13	1.88	0.53	0.01-2.96
Breast	2						
Colorectal	24	22.88	1.05	0.67-1.56	23.10	1.04	0.67-1.55
Leukaemia (all)	5	2.11	2.37	0.77-5.75	5.53	0.90	0.29–2.11
Lymphoid leukaemia	2	1.01	1.98	0.24-7.14	2.59	0.77	0.09–2.79
Myeloid leukaemia	3	0.84	3.55	0.73-10.39	1.85	1.62	0.33-4.74
Lymphoma (all)	9	2.38	3.78	1.73-7.18	6.94	1.30	0.59–2.46
NHL	8	5.15	1.55	0.67-3.06	6.58	1.22	0.52-2.40
Myeloma	2	0.77	2.59	0.31–9.37	2.40	0.83	0.10-3.01
Head and neck	4	2.70	1.48	0.40-3.80	6.19	0.65	0.18-1.65
Kidney	7	1.85	3.78	1.52-7.79	5.56	1.26	0.51-2.59
Liver	1	0.59	1.69	0.04–9.39	2.40	0.42	0.01-2.32
Lung	19	22.63	0.84	0.51-1.31	19.85	0.96	0.58-1.49
Mesothelioma	3	0.49	6.18	1.27-18.06	1.93	1.55	0.32-4.54
Pancreatic	4	1.29	3.11	0.85-7.97	3.73	1.07	0.29–2.75
Prostate	49	44.29	1.11	0.82-1.46	54.53	0.90	0.66–1.19
Stomach	3	1.74	1.72	0.36-5.04	3.34	0.90	0.19–2.62
Thyroid	2	0.37	5.46	0.66–19.71	1.16	1.72	0.21-6.23

Bold type indicates statistical significance

SIR standardised incidence ratio, calculated as observed/expected; NHL non-Hodgkin lymphoma

* Expected cancers standardized by age and sex: all invasive cancers, breast, cervical, colorectal, lung, NHL, and prostate cancer

[†] Expected cancers standardised by sex only: bladder, brain, head and neck, kidney, leukaemia—combined group, lymphoid leukaemia, myeloid leukaemia, lymphoma—combined Hodgkin lymphoma and NHL, myeloma, liver, mesothelioma, pancreatic, stomach, and thyroid cancer

cancers have also varied over the study period, possibly reflecting environmental and screening factors [30]. It is likely that the 'real' value falls somewhere between the estimates from the two methods.

Significant cancers

Bladder

Reports of a possible association between risks of bladder cancer and melanoma are varied, although one populationbased study found it to be the only significant non-melanoma cancer in relatives of individuals with multiple primary melanomas [1, 31]. Cases of bladder cancer have been documented in melanoma families affected by mutations in *MITF*, *TERT*, and *BAP1*, but a heritable link between these cancer types has not been proven [20, 25, 32]. Telomerase reverse transcriptase (*TERT*) gene promoter mutations initially described in melanoma have since been identified in bladder cancer, including a rare segregating variant initially found in a large melanoma family [32]. This T > G variant, located -59 base pairs from the ATG translation start site of TERT, generated binding motifs for Ets and ternary complex transcription factors, and has since been noted in a bladder tumour [33]. A recent study identified germline single nucleotide substitutions in the proximal promoter of TERT in more than 50 % of bladder tumours, including some that were also confirmed as somatic in distinct tumours [34]. The frequency (more than two-thirds) of somatic alterations in a variety of tumour stages suggests that TERT promoter alterations may be a common early event in bladder tumorigenesis [33-35]. Somatic alterations in BAP1 were also recently detected in 15 % of bladder tumours [34]. Although multiple susceptibility loci have been proposed, segregating germline bladder cancer mutations are infrequently reported [36]. Several multiple-case bladder cancer families contain individuals with other cancers, but there seem no specific sites or inheritance modes [37]. In a twocase bladder cancer family, a novel germline balanced

 Table 3
 Observed versus

 expected invasive cancers,
 females

Cancer site/type	Observed	1982–2012* [†]			2008–2012		
		Expected	SIR	95 % CI	Expected	SIR	95 % CI
All invasive non-melanoma	122	115.24	1.06	0.88-1.26	126.14	0.97	0.80-1.15
Bladder	7	0.98	7.12	2.86-14.67	1.99	3.52	1.41-7.25
Brain	4	0.82	4.87	1.33-12.46	1.60	2.50	0.68-6.40
Breast	40	31.79	1.26	0.90-1.71	36.70	1.09	0.78-1.48
Colorectal	10	20.03	0.50	0.24-0.92	20.03	0.50	0.24-0.92
Gynaecological	8	6.17	1.30	0.56-2.56	12.66	0.63	0.27-1.25
Cervical	2	0.98	2.03	0.25-7.34	1.58	1.27	0.15-4.57
Ovarian	2	1.73	1.16	0.14-4.18	3.51	0.57	0.07-2.06
Uterine	3	2.17	1.38	0.28-4.04	5.90	0.51	0.10-1.49
Leukaemia (all)	7	1.59	4.41	1.77-9.08	3.69	1.90	0.76-3.91
Lymphoid leukaemia	6	0.77	7.81	2.87-17.00	1.75	3.43	1.26-7.46
Myeloid leukaemia	1	0.69	1.45	0.04-8.09	1.39	0.72	0.02-4.01
Lymphoma (all)	8	2.21	3.62	1.56-7.14	5.56	1.44	0.62-2.84
NHL	8	4.57	1.75	0.76-3.45	5.21	1.54	0.66-3.03
Myeloma	4	0.62	6.43	1.75-16.47	1.81	2.21	0.60-5.66
Head and neck	2	1.02	1.95	0.24-7.06	2.33	0.86	0.10-3.10
Kidney	2	1.34	1.49	0.18-5.39	3.72	0.54	0.07-1.94
Liver	1	0.27	3.70	0.09-20.63	1.04	0.96	0.02-5.36
Lung	8	9.23	0.87	0.37-1.71	12.55	0.64	0.28-1.26
Mesothelioma	0	0.89	-	-	0.43	-	-
Pancreatic	3	1.19	2.53	0.52-7.40	3.73	0.80	0.17-2.35
Prostate							
Stomach	1	0.92	1.09	0.03-6.07	1.78	0.56	0.01-3.13
Thyroid	5	1.30	3.85	1.25-8.99	3.32	1.51	0.49–3.51

Bold type indicates statistical significance

SIR standardised incidence ratio, calculated as observed/expected; NHL non-Hodgkin lymphoma

* Expected cancers standardized by age and sex: all invasive cancers, breast, cervical, colorectal, lung, and NHL

[†] Expected cancers standardised by sex only: bladder, brain, head and neck, gynaecological—combined group, ovarian, uterine, kidney, leukaemia—combined group, lymphoid leukaemia, myeloid leukaemia, lymphoma—combined Hodgkin lymphoma and NHL, myeloma, liver, mesothelioma, pancreatic, stomach, and thyroid cancer

translocation affecting expression of CDC91L1 at 20q11 was found in a 29-year-old male with bladder and renal pelvis transitional cell carcinoma [38]. In addition to a father with prostate cancer, the proband also had a brother who died at age 27 of metastatic melanoma. Given the young age of diagnosis in both brothers with bladder cancer and melanoma, it is plausible that this represents an extremely rare germline variant predisposing to both tumours. Over-expression of the cell division cycle 91-like 1 (CDC91L1) protein (75 %) and micro-RNA (30 %) in bladder cancer has subsequently been found in primary bladder carcinomas and cell lines [39]. In our study, more women than men were affected by bladder cancer, in contrast to higher population incidence in men worldwide. Tobacco smoke exposure that was historically biased toward men has now equalised, and despite the known vulnerability of bladder tissue to smoking, rates of male and female cancer have not matched modern smoking trends [40]. Causes of bladder cancer in women specifically have been inconclusive, with varying reports on parity, menopause, and hormone replacement therapy [41].

Lymphoid leukaemia

A bidirectional association between melanoma and leukaemia has been established, and melanoma risk following CLL appears particularly increased in the Australian population [42–45]. A host of factors including environmental ultraviolet light exposure, chronic immunosuppression, and genetic components have been proposed [42]. Although lymphoid leukaemia has a strong genetic component for concordant cancer, linkage studies have failed to account



Fig. 1 Frequency of cancers with ≥ 3 observed events, for males and females, ranked in order of significance from 2008 to 2012 analysis. The position of statistically significant cancers corresponds to the odds ratios for each cancer type, indicated by numbered values on the

positive y axis. Cancers that were not statistically significant are ranked in order of decreasing odds ratios on the negative y axis. The values on the x axis indicate frequency of cancer. *CRC* colorectal cancer, *NHL* non-Hodgkin lymphoma

for familial risk. However, a number of SNPs have demonstrated significance, and it is proposed that familial and sporadic CLL share many common elements. One novel variant allele, of DAPK1 at chromosome band 9q22, was found to segregate with CLL in a six-case family, and was initially considered a private mutation until recent detection of germline DAPK1 allele-specific expression in 14 % of tested CLL cases [46, 47]. A link between melanoma and CLL has been identified following the discovery of a shared mutation in POT1, in the germline of a melanoma family and somatically in CLL [21, 48]. One POT1 germline mutation carrier had a history of both cancers, and it is possible that a common variant could influence cancer pathways for both melanoma and leukaemia [21, 22, 48]. Like POT1, the recently identified melanoma predisposition gene ACD is also involved in maintenance of telomere length as part of the shelterin complex, and the presence of both melanoma and leukaemia in an ACD mutation carrier could feasibly represent a shared link [49]. An over-representation of females with lymphoid leukaemia in our cohort may be explained by a finding of a greater affected proportion of females with familial CLL compared to sporadic CLL. It is projected that sex specific differences in penetrance or modifiers may be a feature of the discrepancy [50].

Myeloma

A significantly increased risk of myeloma for FDRs of melanoma cases has been noted in both the Utah and Swedish population databases, although the reverse has not been detected in familial multiple myeloma [1, 2, 51, 52]. Studies on familial clustering of myeloma have demonstrated increased risk of concordant cancer, as well as leukaemia (particularly CLL), and a common aetiologic pattern for the clustering of these cancers has been proposed [51, 52]. Other cancers linked to familial myeloma include colorectal, breast, non-thyroid endocrine, and prostate cancer [52]. A higher risk of myeloma has been identified for daughters of affected cases, with the highest risk in daughters of affected mothers (SIR 4.58) [51]. This sex correlation replicates previous results, and a female predilection possibly represents a heritable sex-specific modifier or common susceptibility, which may explain the findings of significance for females only in our cohort [51]. Most family studies suggest an autosomal dominant mode



Fig. 2 Frequency of cancers with ≥ 3 observed events, for males and females, ranked in order of significance from 1982 to 2012 analysis. The position of statistically significant cancers corresponds to the odds ratios for each cancer type, indicated by numbered values on the positive *y* axis. Cancers that were not statistically significant are ranked in order of decreasing odds ratios on the negative *y* axis. The values on the *x* axis indicate frequency of cancer. *CRC* colorectal cancer, *NHL* non-Hodgkin lymphoma. Expected cancers standardized

of inheritance, with low penetrance for myeloma [52]. A genetic link between myeloma and melanoma has been established in one family, suggesting the high penetrance melanoma risk gene CDKN2A also acts as a low penetrance susceptibility gene for myeloma [53]. In this study, a germline CDKN2A mutation was present in four family members with melanoma and one with myeloma, and loss of heterozygosity studies on bone marrow of the individual affected by myeloma demonstrated loss of the wild-type CDKN2A allele in malignant plasma cells [53]. Of seven other risk loci predisposing to myeloma, two have possible links to melanoma [54–56]. A telomere link may be plausible via a SNP at 3q26.2 mapping 5' to the gene encoding the telomere RNA component (TERC) that helps maintain telomere ends in combination with TERT, a known high penetrance melanoma gene [55]. A common mechanism via the p16INK4a/Rb and ARF/p53 pathways may also exist, as a SNP at 22q13.1 localising to chromobox homolog 7 (CBX7) influences these pathways through cooperation with the oncogene MYC [55]. A study

by age and sex: all invasive cancers, breast, cervical, colorectal, lung, NHL, and prostate cancer. Expected cancers standardised by sex only: bladder, brain, head and neck, gynaecological—combined group, ovarian, uterine, kidney, leukaemia—combined group, lymphoid leukaemia, myeloid leukaemia, lymphoma—combined Hodgkin lymphoma and NHL, myeloma, liver, mesothelioma, pancreatic, stomach, and thyroid cancer

of temporal associations between myeloma and other neoplasms identified 5 cases of melanoma and myeloma in the same individuals, with a median time of 5 years between melanoma and myeloma being diagnosed [57].

Additional neoplasms in the same individual are important to consider not only in the context of heritable risk factors, but also in relation to the possible contribution of the primary cancer to the development of a subsequent cancer. Field cancerisation from treatment with radiation and chemotherapy has been associated with ensuing haematological malignancies, and also radiationsensitive tissue like breast and thyroid [58]. However, a radiation-induced effect in our cohort seems unlikely given that surgery is the main treatment for melanoma, and the relatively long time from melanoma to diagnosis of first haematological malignancy (median 18.5 years). The development of CLL or NHL in a study of melanoma patients treated with surgery only suggests that the association is unrelated to prior treatment, consistent with reports of CLL as non-radiogenic [59, 60]. Myeloma has also not been reliably associated with radiotherapy [61]. It is likely that multiple neoplasms in the same individual are related to an underlying predisposition for cancer comprised of genetic and non-radiation environmental factors.

Multiple cancers

Further to statistically significant cancers, the presence of multiple cancers in some families and individuals is of interest. Fifteen individuals had three different types of cancer—at least one melanoma, and at least two other types of invasive cancer (Table 4). Relatively uncommon cancers that were observed in these individuals include renal cell carcinoma, mesothelioma, and cholangiocarcinoma (interestingly, all cancers that are associated with *BAP1* germline mutations), and thyroid cancer. Eight of 15 individuals had a haematological malignancy, including six leukaemias (three lymphoid leukaemia, and three myeloid leukaemia).

In sixteen melanoma-dense families, with four or more individuals affected by melanoma, 15 families had at least one individual affected by another type of invasive cancer. These cancers included bladder, breast, glioma, lymphoid leukaemia, lymphoma, mesothelioma, and kidney cancer. Although few in number, the presence of bladder cancer, lymphoid leukaemia, and myeloma in melanoma-dense families supports the possibility of common risk polymorphisms shared by these cancer types. Common polymorphisms predisposing to cancer in general are also supported by the presence of more common cancers in J. Read et al.

these families, in contrast to the cohort findings. Of the 16 families, eight had at least one case of prostate cancer, six had colorectal cancer, six had lung cancer, and five had breast cancer. Of three mesothelioma events in the cohort, two were in cancer-dense families (a five-case family, and a six-case family). Although the numbers are too few to be statistically relevant at a population level, the cancer density (and types) of these families warrants further investigation for potential germline mutations, particularly in *BAP1*.

Compared with cancer associations for known high penetrance melanoma genes, the seven observed pancreatic cancers were not significant by age standardised analysis, which contrasts with the frequency of pancreatic cancer in CDKN2A mutation-positive families. As CDKN2A is the most common high penetrance mutation, it seems that more pancreatic cancer would be expected, however this finding may be consistent with Australian data that demonstrates fewer cases of pancreatic cancer in CDKN2A families than international counterparts [1, 11, 12, 62]. It also echoes the findings of the Utah population database, where pancreatic cancer was not increased. Suggested contributing factors are the relatively low number of families affected by CDKN2A mutations, and the heterogeneity of pancreatic cancer predisposition in families that do carry CDKN2A mutations [1, 5].

Further to pancreatic cancer, the present study has not demonstrated associations for all significant cancer types found in population studies of melanoma families. It is possible that our sample size has been too small to detect

Table 4 Individuals affectedby melanoma and at least twoother invasive cancers, in orderof diagnosis

First cancer	Second cancer	Third cancer	Fourth cancer	Fifth cancer
Females				
Melanoma	CLL	NHL	_	_
Melanoma × 4	Endometrial	Thyroid	_	_
Melanoma	Breast	Myeloma	_	_
Melanoma	Breast	CRC	_	_
Melanoma	NHL	CLL	_	_
Melanoma	Myeloma	CML	_	_
Males				
Thyroid	Melanoma	RCC	_	_
RCC	Prostate	Melanoma	_	_
Prostate	Breast	Parotid	Melanoma	_
Melanoma	Prostate	Mesothelioma	_	_
Melanoma	NHL	RCC	CRC	Prostate
Melanoma $\times 2$	Hodgkin Lymphoma	CML	_	_
Melanoma	Prostate	NHL	CLL	_
Melanoma \times 4	CRC	Gallbladder	_	_
Melanoma	CRC	AML	_	_

AML acute myeloid leukaemia, CLL chronic lymphocytic leukaemia, CML chronic myeloid leukaemia, CRC colorectal cancer, NHL non-Hodgkin lymphoma, RCC renal cell carcinoma

an association, but also that a difference in the low risk genetic polymorphisms and environmental exposures of the Queensland study population predisposes to specific cancer types. Although this study reflects population level cancer risk, it is also possible that some cancers may be attributed to a small number of families with undetected mutations in high-penetrance melanoma predisposition genes.

Limitations

The study is limited by searching only the Queensland Cancer Registry, and therefore we are unable to comment on the number of individuals who may have had cancers diagnosed in another state or country. We are also unable to comment on the possibility of unobtainable information, where records may have previously existed, or records that were unavailable. As the study is based in Queensland, Australia, the results may not be generalisable to other geographic regions.

Conclusion

This pilot hypothesis-generating study demonstrates a possible link between melanoma and other cancers in individuals affected by melanoma and their FDRs, particularly bladder cancer and lymphoid leukaemia in females, and multiple myeloma in females affected by melanoma. Associations we have found here for the above over-represented cancers require replication and validation in an independent data set.

An over-representation of other cancers in melanoma families hints at the possibility of common pathways for oncogenesis, including a likely multi-hit model of many low risk heritable polymorphisms and other modifiers that underpin susceptibility to invasive malignancies.

It is possible to conduct genetic testing for known high penetrance germline mutations predisposing to melanoma, however the low yield at a population level and likely polygenic risk modification raises questions about clinical utility. Although a polygenic risk score has been proposed, incomplete penetrance and multiple environmental modifiers and other lifetime exposure risks create difficulty in translating plausible associations to clinical benefit. The main implication for clinical application of familial cancer association research at the population level is likely in the field of primary health care, in providing appropriate counselling and information regarding cancer risk and prevention strategies for cancers linked to familial melanoma.

Acknowledgments This work was supported by the National Health and Medical Research Council (NHMRC) of Australia. NKH

is the recipient of a Senior Principal Research Fellowship of the NHMRC. The authors are indebted to the families for their participation in this study and thank the investigators and researchers of the QFMP and Q-MEGA projects for their valued contributions.

References

- Larson AA, Leachman SA, Eliason MJ, Cannon-Albright LA (2007) Population-based assessment of non-melanoma cancer risk in relatives of cutaneous melanoma probands. J Invest Dermatol 127(1):183–188
- Brandt A, Sundquist J, Hemminki K (2011) Risk of incident and fatal melanoma in individuals with a family history of incident or fatal melanoma or any cancer. Br J Dermatol 165(2):342–348
- Chen T, Hemminki K, Kharazmi E, Ji J, Sundquist K, Fallah M (2014) Multiple primary (even in situ) melanomas in a patient pose significant risk to family members. Eur J Cancer 50(15):2659–2667
- 4. Frank C, Fallah M, Sundquist J, Hemminki A (2015) Population landscape of familial cancer. Sci Rep 5:12891
- Kerber RA, O'Brien E (2005) A cohort study of cancer risk in relation to family histories of cancer in the Utah population database. Cancer 103(9):1906–1915
- Albright F, Teerlink C, Werner TL, Cannon-Albright LA (2012) Significant evidence for a heritable contribution to cancer predisposition: a review of cancer familiality by site. BMC Cancer 12:138
- Aitken JF, Green AC, MacLennan R, Youl P, Martin NG (1996) The Queensland Familial Melanoma Project: study design and characteristics of participants. Melanoma Res 6(2):155–165
- Aitken JF, Youl P, Green A, MacLennan R, Martin NG (1996) Accuracy of case-reported family history of melanoma in Queensland, Australia. Melanoma Res 6(4):313–317
- Olsen CM, Carroll HJ, Whiteman DC (2010) Familial melanoma: a meta-analysis and estimates of attributable fraction. Cancer Epidemiol Biomark Prev 19(1):65–73
- Begg CB, Hummer A, Mujumdar U, Armstrong BK, Kricker A, Marrett LD, Millikan RC, Gruber SB, Anton-Culver H, Klotz JB, Zanetti R, Gallagher RP, Dwyer T, Rebbeck TR, Berwick M (2004) Familial aggregation of melanoma risks in a large population-based sample of melanoma cases. Cancer Causes Control 15(9):957–965
- Goldstein AM (2004) Familial melanoma, pancreatic cancer and germline CDKN2A mutations. Hum Mutat 23(6):630
- 12. Goldstein AM, Chan M, Harland M, Hayward NK, Demenais F, Bishop DT, Azizi E, Bergman W, Bianchi-Scarra G, Bruno W, Calista D, Albright LA, Chaudru V, Chompret A, Cuellar F, Elder DE, Ghiorzo P, Gillanders EM, Gruis NA, Hansson J, Hogg D, Holland EA, Kanetsky PA, Kefford RF, Landi MT, Lang J, Leachman SA, MacKie RM, Magnusson V, Mann GJ, Bishop JN, Palmer JM, Puig S, Puig-Butille JA, Stark M, Tsao H, Tucker MA, Whitaker L, Yakobson E (2007) Features associated with germline CDKN2A mutations: a GenoMEL study of melanomaprone families from three continents. J Med Genet 44(2):99–106
- Mukherjee B, Delancey JO, Raskin L, Everett J, Jeter J, Begg CB, Orlow I, Berwick M, Armstrong BK, Kricker A, Marrett LD, Millikan RC, Culver HA, Rosso S, Zanetti R, Kanetsky PA, From L, Gruber SB (2012) Risk of non-melanoma cancers in firstdegree relatives of CDKN2A mutation carriers. J Natl Cancer Inst 104(12):953–956
- Helgadottir H, Hoiom V, Jonsson G, Tuominen R, Ingvar C, Borg A, Olsson H, Hansson J (2014) High risk of tobacco-related cancers in CDKN2A mutation-positive melanoma families. J Med Genet 51(8):545–552

- 15. Bertolotto C, Lesueur F, Giuliano S, Strub T, deLichy M, Bille K, Dessen P, d'Hayer B, Mohamdi H, Remenieras A, Maubec E, de la Fouchardiere A, Molinie V, Vabres P, Dalle S, Poulalhon N, Martin-Denavit T, Thomas L, Andry-Benzaquen P, Dupin N, Boitier F, Rossi A, Perrot JL, Labeille B, Robert C, Escudier B, Caron O, Brugieres L, Saule S, Gardie B, Gad S, Richard S, Couturier J, Teh BT, Ghiorzo P, Pastorino L, Puig S, Badenas C, Olsson H, Ingvar C, Rouleau E, Lidereau R, Bahadoran P, Vielh P, Corda E, Blanche H, Zelenika D, Galan P, Aubin F, Bachollet B, Becuwe C, Berthet P, Bignon YJ, Bonadona V, Bonafe JL, Bonnet-Dupeyron MN, Cambazard F, Chevrant-Breton J, Coupier I, Dalac S, Demange L, d'Incan M. Dugast C, Faivre L. Vincent-Fetita L, Gauthier-Villars M, Gilbert B, Grange F, Grob JJ, Humbert P, Janin N, Joly P, Kerob D, Lasset C, Leroux D, Levang J, Limacher JM, Livideanu C, Longy M, Lortholary A, Stoppa-Lyonnet D, Mansard S, Mansuy L, Marrou K, Mateus C, Maugard C, Meyer N, Nogues C, Souteyrand P, Venat-Bouvet L, Zattara H, Chaudru V, Lenoir GM, Lathrop M, Davidson I, Avril MF, Demenais F, Ballotti R, Bressac-de Paillerets B (2011) A SUMOylation-defective MITF germline mutation predisposes to melanoma and renal carcinoma. Nature 480(7375):94-98
- 16. Carbone M, Ferris LK, Baumann F, Napolitano A, Lum CA, Flores EG, Gaudino G, Powers A, Bryant-Greenwood P, Krausz T, Hyjek E, Tate R, Friedberg J, Weigel T, Pass HI, Yang H (2012) BAP1 cancer syndrome: malignant mesothelioma, uveal and cutaneous melanoma, and MBAITs. J Transl Med 10:179
- de la Fouchardiere A, Cabaret O, Savin L, Combemale P, Schvartz H, Penet C, Bonadona V, Soufir N, Bressac-de Paillerets B (2014) Germline BAP1 mutations predispose also to multiple basal cell carcinomas. Clin Genet 88(3):273–277
- Ghiorzo P, Pastorino L, Queirolo P, Bruno W, Tibiletti MG, Nasti S, Andreotti V, Paillerets BB, Bianchi Scarra G (2013) Prevalence of the E318K MITF germline mutation in Italian melanoma patients: associations with histological subtypes and family cancer history. Pigment Cell Melanoma Res 26(2):259–262
- Njauw CN, Kim I, Piris A, Gabree M, Taylor M, Lane AM, DeAngelis MM, Gragoudas E, Duncan LM, Tsao H (2012) Germline BAP1 inactivation is preferentially associated with metastatic ocular melanoma and cutaneous-ocular melanoma families. PLoS One 7(4):e35295
- Popova T, Hebert L, Jacquemin V, Gad S, Caux-Moncoutier V, Dubois-d'Enghien C, Richaudeau B, Renaudin X, Sellers J, Nicolas A, Sastre-Garau X, Desjardins L, Gyapay G, Raynal V, Sinilnikova OM, Andrieu N, Manie E, de Pauw A, Gesta P, Bonadona V, Maugard CM, Penet C, Avril MF, Barillot E, Cabaret O, Delattre O, Richard S, Caron O, Benfodda M, Hu HH, Soufir N, Soufir N, Bressac-de Paillerets B, Stern MH (2013) Germline BAP1 mutations predispose to renal cell carcinomas. Am J Hum Genet 92(6):974–980
- Robles-Espinoza CD, Harland M, Ramsay AJ, Aoude LG, Quesada V, Ding Z, Pooley KA, Pritchard AL, Tiffen JC, Petljak M, Palmer JM, Symmons J, Johansson P. (2014) POT1 loss-of-function variants predispose to familial melanoma. Nat Genet 46(5):478–481
- 22. Shi J, Yang XR, Ballew B, Rotunno M, Calista D, Fargnoli MC, Ghiorzo P, Bressac-de Paillerets B, Nagore E, Avril MF, Caporaso NE, McMaster ML, Cullen M, Wang Z, Zhang X, Bruno W, Pastorino L, Queirolo P, Banuls-Roca J, Garcia-Casado Z, Vaysse A, Mohamdi H, Riazalhosseini Y, Foglio M, Jouenne F, Hua X, Hyland PL, Yin J, Vallabhaneni H, Chai W, Minghetti P, Pellegrini C, Ravichandran S, Eggermont A, Lathrop M, Peris K, Scarra GB, Landi G, Savage SA, Sampson JN, He J, Yeager M, Goldin LR, Demenais F (2014) Rare missense variants in POT1 predispose to familial cutaneous malignant melanoma. Nat Genet 46(5):482–486
- 23. Testa JR, Cheung M, Pei J, Below JE, Tan Y, Sementino E, Cox NJ, Dogan AU, Pass HI, Trusa S, Hesdorffer M, Nasu M, Powers

A, Rivera Z, Comertpay S, Tanji M, Gaudino G, Yang H, Carbone M (2011) Germline BAP1 mutations predispose to malignant mesothelioma. Nat Genet 43(10):1022–1025

- 24. Wiesner T, Obenauf AC, Murali R, Fried I, Griewank KG, Ulz P, Windpassinger C, Wackernagel W, Loy S, Wolf I, Viale A, Lash AE, Pirun M, Socci ND, Rutten A, Palmedo G, Abramson D, Offit K, Ott A, Becker JC, Cerroni L, Kutzner H, Bastian BC, Speicher MR (2011) Germline mutations in BAP1 predispose to melanocytic tumors. Nat Genet 43(10):1018–1021
- 25. Yokoyama S, Woods SL, Boyle GM, Aoude LG, MacGregor S, Zismann V, Gartside M, Cust AE, Haq R, Harland M, Taylor JC, Duffy DL, Holohan K, Dutton-Regester K, Palmer JM, Bonazzi V, Stark MS, Symmons J, Law MH, Schmidt C, Lanagan C, O'Connor L, Holland EA, Schmid H, Maskiell JA, Jetann J, Ferguson M, Jenkins MA, Kefford RF, Giles GG, Armstrong BK, Aitken JF, Hopper JL, Whiteman DC, Pharoah PD, Easton DF, Dunning AM, Newton-Bishop JA, Montgomery GW, Martin NG, Mann GJ, Bishop DT, Tsao H, Trent JM, Fisher DE, Hayward NK, Brown KM (2011) A novel recurrent mutation in MITF predisposes to familial and sporadic melanoma. Nature 480(7375):99–103
- 26. Baxter AJ, Hughes MC, Kvaskoff M, Siskind V, Shekar S, Aitken JF, Green AC, Duffy DL, Hayward NK, Martin NG, Whiteman DC (2008) The Queensland study of Melanoma: environmental and Genetic Associations (Q-MEGA). Study design, baseline characteristics, and repeatability of phenotype and sun exposure measures. Twin Res Hum Genet 11(2):183–196
- Cancer_Council_Queensland. Methodology. http://www.can cerqld.org.au/page/research_statistics/queensland_cancer_statistics/ queensland_cancer_statistics_online_qcsol/methodology/
- Cancer_Council_Queensland. Average annual age-specific incidence of all invasive cancers by sex, Queensland, 2008–2012. http://www.cancerqld.org.au/f/QCSOL/View/Incidence_(Diag nosis)/Age_Specific/All_Invasive_Cancers
- 29. Cancer_Council_Queensland. Incidence rate trends for all invasive cancers by sex, Queensland, 1982–2012. [cited 2015]. http:// www.cancerqld.org.au/f/QCSOL/View/Incidence_(Diagnosis)/ Trends_Over_Time/All_Invasive_Cancers/By_Sex
- 30. Cancer_Council_Queensland. Recent trends (annual percentage change) in incidence rates for common cancers in Queensland. http://www.cancerqld.org.au/f/QCSOL/View/Incidence_(Diag nosis)/Trends_Over_Time/Overview
- Bermejo JL, Sundquist J, Hemminki K (2009) Bladder cancer in cancer patients: population-based estimates from a large Swedish study. Br J Cancer 101(7):1091–1099
- Horn S, Figl A, Rachakonda PS, Fischer C, Sucker A, Gast A, Kadel S, Moll I, Nagore E, Hemminki K, Schadendorf D, Kumar R (2013) TERT promoter mutations in familial and sporadic melanoma. Science 339(6122):959–961
- 33. Rachakonda PS, Hosen I, de Verdier PJ, Fallah M, Heidenreich B, Ryk C, Wiklund NP, Steineck G, Schadendorf D, Hemminki K, Kumar R (2013) TERT promoter mutations in bladder cancer affect patient survival and disease recurrence through modification by a common polymorphism. Proc Natl Acad Sci USA 110(43):17426–17431
- 34. Nickerson ML, Dancik GM, Im KM, Edwards MG, Turan S, Brown J, Ruiz-Rodriguez C, Owens C, Costello JC, Guo G, Tsang SX, Li Y, Zhou Q, Cai Z, Moore LE, Lucia MS, Dean M, Theodorescu D (2014) Concurrent alterations in TERT, KDM6A, and the BRCA pathway in bladder cancer. Clin Cancer Res 20(18):4935–4948
- Huang FW, Hodis E, Xu MJ, Kryukov GV, Chin L, Garraway LA (2013) Highly recurrent TERT promoter mutations in human melanoma. Science 339(6122):957–959
- 36. Rothman N, Garcia-Closas M, Chatterjee N, Malats N, Wu X, Figueroa JD, Real FX, Van Den Berg D, Matullo G, Baris D,

Thun M, Kiemeney LA, Vineis P, De Vivo I, Albanes D, Purdue MP, Rafnar T, Hildebrandt MA, Kiltie AE, Cussenot O, Golka K, Kumar R, Taylor JA, Mayordomo JI, Jacobs KB, Kogevinas M, Hutchinson A, Wang Z, Fu YP, Prokunina-Olsson L, Burdett L, Yeager M, Wheeler W, Tardon A, Serra C, Carrato A, Garcia-Closas R, Lloreta J, Johnson A, Schwenn M, Karagas MR, Schned A. Andriole G Jr. Grubb R 3rd, Black A. Jacobs EJ, Diver WR, Gapstur SM, Weinstein SJ, Virtamo J, Cortessis VK, Gago-Dominguez M, Pike MC, Stern MC, Yuan JM, Hunter DJ, McGrath M, Dinney CP, Czerniak B, Chen M, Yang H, Vermeulen SH, Aben KK, Witjes JA, Makkinje RR, Sulem P, Besenbacher S, Stefansson K, Riboli E, Brennan P, Panico S, Navarro C, Allen NE, Bueno-de-Mesquita HB, Trichopoulos D, Caporaso N, Landi MT, Canzian F, Ljungberg B, Tjonneland A, Clavel-Chapelon F, Bishop DT, Teo MT, Knowles MA, Guarrera S, Polidoro S, Ricceri F, Sacerdote C, Allione A, Cancel-Tassin G, Selinski S, Hengstler JG, Dietrich H, Fletcher T, Rudnai P, Gurzau E, Koppova K, Bolick SC, Godfrey A, Xu Z, Sanz-Velez JI, D García-Prats M, Sanchez M, Valdivia G, Porru S, Benhamou S, Hoover RN, Fraumeni JF Jr, Silverman DT, Chanock SJ (2010) A multi-stage genome-wide association study of bladder cancer identifies multiple susceptibility loci. Nat Genet 42(11):978-984

- Mueller CM, Caporaso N, Greene MH (2008) Familial and genetic risk of transitional cell carcinoma of the urinary tract. Urol Oncol 26(5):451–464
- Schoenberg M, Kiemeney L, Walsh PC, Griffin CA, Sidransky D (1996) Germline translocation t(5;20) (p15;q11) and familial transitional cell carcinoma. J Urol 155(3):1035–1036
- 39. Shen YJ, Ye DW, Yao XD, Trink B, Zhou XY, Zhang SL, Dai B, Zhang HL, Zhu Y, Guo Z, Wu G, Nagpal J (2008) Overexpression of CDC91L1 (PIG-U) in bladder urothelial cell carcinoma: correlation with clinical variables and prognostic significance. BJU Int 101(1):113–119
- Freedman ND, Silverman DT, Hollenbeck AR, Schatzkin A, Abnet CC (2011) Association between smoking and risk of bladder cancer among men and women. JAMA 306(7):737–745
- 41. Dietrich K, Demidenko E, Schned A, Zens M, Heaney J, Karagas M (2011) Parity, early menopause and the incidence of bladder cancer in women: a case-control study and meta-analysis. Eur J Cancer 47(4):592–599
- 42. McKenna DB, Stockton D, Brewster DH, Doherty VR (2003) Evidence for an association between cutaneous malignant melanoma and lymphoid malignancy: a population-based retrospective cohort study in Scotland. Br J Cancer 88(1):74–78
- 43. Royle JA, Baade PD, Joske D, Girschik J, Fritschi L (2011) Second cancer incidence and cancer mortality among chronic lymphocytic leukaemia patients: a population-based study. Br J Cancer 105(7):1076–1081
- 44. Brewer JD, Shanafelt TD, Call TG, Cerhan JR, Roenigk RK, Weaver AL, Otley CC (2015) Increased incidence of malignant melanoma and other rare cutaneous cancers in the setting of chronic lymphocytic leukemia. Int J Dermatol 54(8):e287–e293
- 45. Famenini S, Martires KJ, Zhou H, Xavier MF, Wu JJ (2015) Melanoma in patients with chronic lymphocytic leukemia and non-Hodgkin lymphoma. J Am Acad Dermatol 72(1):78–84
- 46. Raval A, Tanner SM, Byrd JC, Angerman EB, Perko JD, Chen SS, Hackanson B, Grever MR, Lucas DM, Matkovic JJ, Lin TS, Kipps TJ, Murray F, Weisenburger D, Sanger W, Lynch J, Watson P, Jansen M, Yoshinaga Y, Rosenquist R, de Jong PJ,

Coggill P, Beck S, Lynch H, de la Chapelle A, Plass C (2007) Downregulation of death-associated protein kinase 1 (DAPK1) in chronic lymphocytic leukemia. Cell 129(5):879–890

- 47. Wei QX, Claus R, Hielscher T, Mertens D, Raval A, Oakes CC, Tanner SM, de la Chapelle A, Byrd JC, Stilgenbauer S, Plass C (2013) Germline allele-specific expression of DAPK1 in chronic lymphocytic leukemia. PLoS One 8(1):e55261
- Ramsay AJ, Quesada V, Foronda M, Conde L, Martinez-Trillos A, Villamor N, Rodriguez D, Kwarciak A, Garabaya C, Gallardo M, Lopez-Guerra M, Lopez-Guillermo A, Puente XS, Blasco MA, Campo E, Lopez-Otin C (2013) POT1 mutations cause telomere dysfunction in chronic lymphocytic leukemia. Nat Genet 45(5):526–530
- 49. Aoude LG, Xu M, Zhao ZZ, Kovacs M, Palmer JM, Johansson P, Symmons J, Trent JM, Martin NG, Montgomery GW, Brown KM, Hayward NK (2014) Assessment of PALB2 as a candidate melanoma susceptibility gene. PLoS One 9(6):e100683
- 50. Crowther-Swanepoel D, Houlston RS (2009) The molecular basis of familial chronic lymphocytic leukemia. Haematologica 94(5):606–609
- Altieri A, Chen B, Bermejo JL, Castro F, Hemminki K (2006) Familial risks and temporal incidence trends of multiple myeloma. Eur J Cancer 42(11):1661–1670
- 52. Frank C, Fallah M, Chen T, Mai EK, Sundquist J, Forsti A, Hemminki K (2016) Search for familial clustering of multiple myeloma with any cancer. Leukemia 30:627–632
- Dilworth D, Liu L, Stewart AK, Berenson JR, Lassam N, Hogg D (2000) Germline CDKN2A mutation implicated in predisposition to multiple myeloma. Blood 95(5):1869–1871
- 54. Broderick P, Chubb D, Johnson DC, Weinhold N, Forsti A, Lloyd A, Olver B, Ma YP, Dobbins SE, Walker BA, Davies FE, Gregory WA, Child JA, Ross FM, Jackson GH, Neben K, Jauch A, Hoffmann P, Muhleisen TW, Nothen MM, Moebus S, Tomlinson IP, Goldschmidt H, Hemminki K, Morgan GJ, Houlston RS (2012) Common variation at 3p22.1 and 7p15.3 influences multiple myeloma risk. Nat Genet 44(1):58–61
- 55. Chubb D, Weinhold N, Broderick P, Chen B, Johnson DC (2013) Common variation at 3q26.2, 6p21.33, 17p11.2 and 22q13.1 influences multiple myeloma risk. Nat Genet 45(10):1221–1225
- Morgan GJ, Johnson DC, Weinhold NGH, Landgren O, Lynch HT, Hemminki K, Houlston RS (2014) Inherited genetic susceptibility to multiple myeloma. 28(3):518–524
- 57. Hasskarl J, Ihorst G, De Pasquale D, Schrottner P, Zerweck A, Wasch R, Engelhardt M (2011) Association of multiple myeloma with different neoplasms: systematic analysis in consecutive patients with myeloma. Leuk Lymphoma 52(2):247–259
- Travis LB (2006) The epidemiology of second primary cancers. Cancer Epidemiol Biomark Prev 15(11):2020–2026
- 59. McKenna DB, Doherty VR, McLaren KM, Hunter JA (2000) Malignant melanoma and lymphoproliferative malignancy: is there a shared aetiology? Br J Dermatol 143(1):171–173
- Silver SR, Hiratzka SL, Schubauer-Berigan MK, Daniels RD (2007) Chronic lymphocytic leukemia radiogenicity: a systematic review. Cancer Causes Control 18(10):1077–1093
- Wright JD, St Clair CM, Deutsch I, Burke WM, Gorrochurn P, Sun X, Herzog TJ (2010) Pelvic radiotherapy and the risk of secondary leukemia and multiple myeloma. Cancer 116(10):2486–2492
- Goldstein AM, Struewing JP, Fraser MC, Smith MW, Tucker MA (2004) Prospective risk of cancer in CDKN2A germline mutation carriers. J Med Genet 41(6):421–424